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CHSC-01T/CHGE-01

B.A./B.Com./B.Sc Science/B.H.Sc.
B.Sc.Life Science/B.C.A./BBA (Semester—l)
Examination, July-Dec. 2024

( Session : 2024-25 )"

(NEP -2020)
FUNDAMENTAL CHEMISTRY—I
Paper-1-

Time Allowed : T. hree Hours
Maximum Marks : 70
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Note : Question paper is divided into four sectlons Attempt

questions of all four sections as per g1ven direction.

Distribution of marks is given in each section.

¢

@us-A | SECTION-A

( wghedT w7 )

( Multiple Choice Type Questions ) .
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e : T8 T = 99 A 99% 999 1 9% 57
[1x10=10]

Note : Choosethe correct option. Each question carries 1 mark

(1) Hifee
(@) =
(w) arwe
(x) T

The author of ‘Rasaratnakara’ is :
(a)  Kautilya
(b). Chanakya
(c)  Vagbhatta
(d) Nagarjuna
Q.2. TEESH ¥ AN YR TRl H BRI §
(1) ISl W YEe R
(7) o Rem
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(H) arffderaar Risd

@ s Fe

Reason for three unpaired electrons in Nitrogen is :
(a) ‘ Pauli’s Exclusion Priﬁciple

(b)  Aufbau Princliple

(c)  Uncertainty Principle |

(d) Hund’sRule 5

Q.3. SF, oT9 ¥ HHT &l ¢ :

() s

(@ spd
(@ sp'd
(@ spd

- Hybridization in SF, molecule is :

@ sp
(b) spd
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J 2

(¢) spd
(d) Sp3d3

Q.4. =1 & ¥ o dwmbw gy Sr 27

(1) N,

()  He,

(®) F,

) co

Which of the following has bond order 26107
(@ N, |

(b) He,

(©) F,

(d CO

Q.5. ﬁﬁﬁﬁ%ﬂdﬁ_ﬁﬁgmwﬁa%qgﬁrmaﬁ%?
(&1)  Li :

(Er) Be
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‘ (@) Ca
(E{) Na

Which of the following clement has maximum

tendency to form complexes?

(@)  Li
(b) Be
(c) Ca
GRS E e ,

Q.6. AR ﬁé-crana‘ra%i%mmﬁmqtm
% .: :
(@) cH,Cl =

(ET) Cﬁ3,Cl_
(@ cH,,Cl

() CHHCI
part formed by heterolytic cleavage of C—Cl bond in
methyl chloride is @ -

(@ CH,,CI
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)  CHs,Cl
) cH,,cl’
d) C'H,.ClI

Q.7. R T S F gansiir B § 9k :

(&) s St > ST ot

(7) ST ST > S e
(®) ST Sl = e el
(&) = Ty @

A substance is soluble in water if :

(a) Lattice ener@ > Hydration' energy
(b) ‘ Hydration energy > Lattice energy
(©) Hydratidn energy = Lattice energy

(d) Norelation

Q.8. aﬂq@éamfﬁzﬁﬁsmﬂa@?ﬁ%,ﬂﬁiﬁsmm@&@ﬁé
g

(1)  +1 SHfeRAHTOT STereen
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Q.9.

(@) = R o
(@) o= Qe s
(}) ns SN B & Col o e

Alkali metals are hi ghly reactive because alkali metals
show :

(a) | +1 Oxidation State

(b)  High Electropositive Character
(c) HighElectron Aﬁ"mity

(d ns Eleétronic Configuration

el T 3w T R

(&) BHZ
(@  BH,, .
(¥ B,H,.,
(® BH

General formula of Nido borane is :

@  B,H,
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(by BH

n _ n+6
(C) Ban+4

(@  BH."

"Q.1o.ﬁwﬁﬁﬁﬂ-wﬁrﬁmmﬁ?ﬂammmfﬁam

&7

(%) 1-=d=
() o=
(|) 25N
() wiw

Which of the following compound shows geometrical

isomerism?
(a) l;Butene
(b) PrOpené
(c) 2-Butene
(d)  Ethene
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Note :

Q. 1.

Q. 2.

gus-§ |/ SECTION-B
( 9 Sod9 999 )

( Short Answer Type Questions )

: Foedl O oAl @ SR ARt uds e 04 Si @

[4%5=20]

Attempt any five questions. Each question carries 04
marks.

"I Tredl” B AT H g i
Briefly describe “Charak Sambhita”.
Na*Cl~ ® T Al Fheeal @ S ot @l T

- Tl

Q. 3.

Q. 4.

Calculaté the lattice energy of one mole of Na*Cl™

crystals.

MOT &R VBT & 39 3R @< Hiva

Write difference between MOT and VBT.

PIET $R de T O B A Sareeer aRe W

What are crown ether complexes? Explain by giving

two examples.
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Q.5. “3Nipd I NG ST 1 AU &7 YT ST
3 HHHARU
What do you mean by “Inert pair effect”’? Explain

giving suitable example.

Q. 6. ﬁrﬁmmwsﬁ@ﬁﬁzﬁwﬁww%?wm
qied aHEET

Explain differences between Inductive effect and

Electromeric effect with éxample..

Q.7. =1 dffept & e w@a (R a1 S) 4T :
Give the configuration symbol (R or S) of the
following : |
= CH,'
@ H-¢-CH
CH;
H
(b) CH,-C - COOH

I
NO

N

7
(c) CH,—C-COOH
CH,
_ gHo
@ GH.~C-OH
NH,
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Gus-g | SECTION-C
( & solm g )

( Long Answer Type Questions )

e wh o B Sex AR w9 10 ST B S
[4%10=40]

Note : Attempt all questions. Each question carries 10 marks.

gps-1 / Unit-I
Q.1. Frififed (FE ) W= S AR a J&ihl B T
F ffau : | [5+5=10]
(@) g |
(@) R
@

Write about the contribution and books of the

following chemists (any three) :
(a) Nagarjuna

(b)  Ramachandra

(c) RishiKanad

e / OR
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Q.2.

e B TR e AN SESN & s W W
THEIET T Q6% Aew @ Hel [ [10]

Explain the linear spectrum of hydrogen by Bohr’s

atomic model and write drawbacks of Bohr’s model.
=HE-11 / Unit-I1

(a) RS ol § oMY O THE &7 §9 S
B cl_l@f I BT GO FHifoTgl [5]

What do you understand by Solvation Energy?

Describe the factors affecting it.

(b) ‘Do Fram” & R § TR 39 TR

e | . [5]
Explain “Féjan’s Rule” in detail. Write its
application.

9l / OR

LCAO Ry 711 8?7 0,W NO & ST i Fsft &<
ARE 3T T ek Tl TOFT ity [10]
What is LCAO method? Draw the mo.lecular orbital

energy level diagram of O, and NO, and calculate the

bond order.
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b FHE-1IT / Unit-TIT

Q.3. () ‘“‘FreEizs” W fReupell i [5]

Write a note on “Carbide”.
(b) TEINE R SRERE @ iR o fee
faiET [5]
Write note on ox.yacid of Nitrogen and
Phosphorus.
ofgar / OR

SR 3 ST FEaER IT T e W S
mmﬁﬁ,wﬁﬁﬁm%mmm
3 HRY dled TR [10]

Discuss the abnormal b
more similarity to Magnesium, in compare to

chaviour of Lithium; Lithium

shows
other alkali metal. Explain with causes.

-1V / Unit-IV

Q.4. (a)

WO metho'ds of formation of

Write t
ability and

carbocation. Also explain their st
main properties.
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(b) IRPRE gWE T 7 TEH ST g G @
SeIel G T 19 Tl &7 IaIe}yT died gHel=yl
| [5]
What is Inductive effect? What effect does it .
have on the strength of acids and bases? Explain

with example.
gqr / OR

() YHNY GHETET § Y T GRS &7 Afe®
ITRT H I Ad, U THIRG FHETE b
faf=T a1 g Hifm < [5]
What do you understand by Optical Isomerism?

Taking the example of lactic acid, describe the
different forms of optical isomerism.

(b)  THW (cis) T W (trans) GHREA § o9
T TR &7 SUGRT T SR AR S
AT B R S S @ B & R
H 9O IR [5]

What do you understand by Cis and Trans
isomerism? Give example of the above.
Describe any two methods of finding the

configuration of geometrical isomerism.

————X——
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